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Test Booklet Code DEF No.: 41E65746

This Booklet containg 20 pages,

Do not open this Test Booklet until vou are asked to do so.
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The Answer Sheel is inside this Test Booklet, When you are directed to open the Test Booklet, take out the

Answer Sheet and fill in the particulars on side-1 and side-2 carefully with Blue/ black ball point pen only,

The test is of 3 howrs duration and Test Booklet contains 180 questions. Each question carries 4 marks, For
each correct response, the candidate will get 4 marks. Foreach incorrect response, one mark will be deducted
fromm the total scores. The maximum marks are 720,

Use Blue /Black Ball Point Pen only for writing particulars on this page,/ marking responses,

Rough work i to by done on the space provided for this purpose in the Test Booklet only,

On completinn of the test, the candidate must handover the Answer Sheet to the invigilator before leaving
the Room,/ Hall. The candidates are allowed to take away this Test Booklet with them.

The CODE for this Booklet i= Q). Make sure that the CODE printed on Side-2 of the Answer Sheet is the same
as that on this Booklet. In case of discrepancy, the candidate should immediately report the matter to the
Invigilator for neplacement of both the Test Booklet and the Answer Sheet.

The candidates should ensure (hat the Answer Sheet is not folded. Do net make any siray marks on the
Answer Sheet. Do not write your roll no. anywhere else except in the spn:lﬁed space in the Test Booklet,
Anstrer Sheet.

Use of white fluid for correction is NOT permissible on the Answer Sheet,
Each candidate must show on demand his/ her Admission Card to the Invigilator.
Bo candidate, without special permission of the Superintendent or Invigilator, would leave hisfher seat.

The candidates should not leave the Examination Hall without handing over thair Answer Sheet to the
Inviglator on duty and sign ‘the Attendance Sheet twice, Cascs where a candidate has not signed the
Attendance Sheet 5emr|.d time will be deamed not b have handed over Answer Shedt and dealt with as an
unfair means case,

Llse l:!‘fl"l.ctl'erit,.-‘M Calealator is prohibited,

The candidates a:cgci:'emed by all Rules and Regulations of the Board with regard to their conduct in the
BExamination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of fhe Board,

Mo part of the Test Booklet and Answer Sheet shall be detached under any circimstances,
The candidates will write the Correct Test Booklet Code as given in the Test Booklet, Answer Sheet in the

Adtendance Sheat.
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Which of the following componds will undergo
racemisation when salulion of KOH h_'r"'-!m]}'ﬁl’ﬁ ks

I(;;HICHZG
@ 1|
S
fil) CHCH,CH,Cl
o,

W) e CH-crya

-
@ HATNg
I5
(1) (i) and {iv)
@) (iland i) -
(3" (i) and iv)
(8 (i)and i

The reaction of aqueous KMnrOy, with ;O in acidic
congitions gives ;
i1}y Mn*and
2 Mnl*and O,
(3] Mo+ and MnO),
Mot and 0o,

@ Which one of the following is not a common
component of Photochemical Smog
i

1) Actelein
{2 Peroxyacetyl nitrate "
#  Chlorofluorakarbons

) Ozone

e
Which of the fallowing will be ‘most stable
diazomium salt RNE X P
1) CgHgs NI X™
(2 CHy CHy N3 X

3T CoH: CHy N X
M cHy NE X '

Whichof the following hormones i produced snder
the condition of stress which stimulates
glycogenolysis in the liver of human beings 7
(1) Insulin

(2" Adrenaline
@  Estradiol
4 Thyroxin

:.\,'I s art

SRR 5

2

LU g of magnesiuen is burnt with 0.56 5 O, in a
cdlosed vessel. Which reactant is left in excess and

e+ The informaticn provided here 15 for Reference. T mMay vary:

hevwr muckh 7 (’\-‘h
(At wt Mg=24;0=16) &

W 0y.016g L

@ Mgosg WP Y a

(B Op.028g

@ Mg, 0l6g

What products are formed when the following
compound is treted with Bey in the presence of

Felirg 7 . LA.."[.-&I

Lt
Q

= viuj LH,
0 "0, ~Q,
Br
CH: ch,
@) @ms anl 3 g

Which of the following organic compounds

polymerizes to form the polyestar Dacron 7
Benzoic acid and ethano]

(T} Terephthalic acid and ethylene glveal

(3  Benzoicacid and para HO—{CH,) - OH

() I’rq;_:nylenemipan HO={CH)=0H

In acidic medium, H,0, changes Cry0, % to CrO;
which has two {— 0= 0= bonds, Oxidation state

of Crin Crik is: i
I  +3 ?1 "'”? :
B +6

@ -10 _Q"'H

{4 +5

(.
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é&!: The information provided here

1k, Which of the (ollowing orders of ionie radii is
correctly represented !

{1y MWat=F- =077
{2 F-=0?">Mat f

--Ef*}’f(. AR = Mg*= N3
%" H-=H*>H
*
1. Which of tha following safts will give highest pH in
water ?
1 Nall
NayCO;

@ Cuso,
4 Ka

.

12, Which of the following will not be solubla in sodium
hydagen carbanate 7 = \f‘khsl

(1" Benzoic acid "/,,-"'(

2 o-Nitrophenol
(3] Denzenesulphonic ElEi.d.‘.’,.-‘

{4 24,6 -trinitrophenal A_{ ﬁ“l
S

13, Forthe reaction

6o
Mo Dg(l) — 2 KO5(g)
AU=21kcal, A5=20cal K1 at300 K
Henoe, A iz
{1y ~27kcal -‘{* 1 qﬁw
: AU F
@ 93kal \ “-f" it
~93keal " et
@ 27keal 'I'DW

14, @i the following resction. the product (4)

MaMNCol™ HH,

-

@]+@L w I

Yellow dye

1H;
OO
Nty
& OO
@) {{ )}Nuw--@—m!z

Orwrm-©

e

16,

17

18.

185

Q
hqlngtl'lcb:bh&ﬂﬂmg}:ha:w A= 46330 K
the following reaction, n:'
Agy 00y (5) = 2Ag " (ag)+CO4* " (aq)
the K, of AgxT04y(s) in wateratzﬁ‘c is 1
(k=8 414] K~1mol~)
{1y s0x10-R g;

-/G})" 2.9x%10~3 \ﬂff ) o
M Texio-t L \}fi"
@ 32w10" & \}.ﬁh

eils”
Tidentity 7 in the sequence of reactio .,_f.l‘J}-
CHaCHyCHE HBr/ Hally Y 32 IE %
m [&131.'1[}12 -0~ CHCH,
(@) CHy(CHY,~0-CHy,
(3) CHyCH,—CH(CH;) -0~ CHCH,
- =

JJ/'CH, —(CHy)y~O—CILCH;

Trs the Kjeldahl’s method for estimatioin of nitrogen
present in 4 soil sample , ammonia evolved from
0.75 g of sample neatralized 10 mL of 1M M50,
The percentage of nitrogen in the soil is:

(1) 4533 L
@ A5 (A8
o 2L

W 73

Which property of colloids is not dependent on the
charge on colloidal particles ?

Mmhm '

Electro - osmosis

[3}1 Tenadall effect
) Coagulation
I-'ura gluenm&mﬂcrﬂ:ﬁon,l’i and K., arethe

fiIm o 5 at Lm-ﬂpér_aﬁﬁ'l'#nd Ty,
respectively. Assuming that Ehf_aﬂ%ﬂm&
Ejinm;_at_#_lgmne_rgmm rangebe and Ty,

Teadily observed that

M K<Kp

% =Ky

@ K L
) B

Kp

o KK
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20, When 22.4 litees of Hylg) s mixed with 11 2 litres of | 25, Belt iz iscelectronic with which of the following
Cla (g each at ST, the moles of HCI (i) formed is jons T
equal to : Ei%* B
2 05molof HCI{g) 6 Mgt 3%
(3 1.5molof HCH(E) 4 Ht ‘3
4 Lmeolof HCHE)
6. Magnetic moment 2.83 BM is grven by which of the
21, Which one of the following is an example of a follaving s i i
thermosetting polymer ? At nos. Ti=122, Cr=24, Mn =25, Ni = zm
[
g YT m NEt X
d c, i
H 0 8
i i ?-”_1““ f‘f # 1,?}
/ +N- {c:HgE, hvr_—{CE-Izh—c—}— W e rj,}f
'CH 27, The weight of silver tat.wL—lﬂGj displaced by a
‘:Hz # 1\} quantity of electricity which displaces 3600 mL. of
O, at 5TP will be:
10.8
) e ﬂlﬁ "ﬁ}w 510
a @ 10B0g
22, Which one is most reactive fowards Nucleophilic @ Sdg
addition reaction ? 2B, Forthe reversible reaction: 5o
) @mﬂ% N,{g) +3H,(g) === 2NH(g) + heat
e The equilibrinm shifts i forward direction
GHA (1) by decreasing the pressure
{2} by decreasing the comeentrations of M,(g) and
Hy(z)
2 s by increasing pressure and decreasing
CHy temperature
. 3 @) by increasing mg:unmrmw'mnihu—lg(g]
O i 29.  The palr of compounds that can exist together is:
&) ()  HgCly SaCly
i 2 FeQly SnCly
. M0 [9‘} FECIH-, Kl
.l ) {9 FeCly Sncy
. firk i 30.  Which of the following complexes is used to be as
23.  Calculate the energy injoule corresponding to light
of wavelength 43 nm : (Planck’s constant o Elnlj;ancer "Eﬁ‘t i
h=663x 10~ ]s; speed of light ¢ =33 108 ms~1} is - [Pt Cly (NHga]
1) 6e7x1nll [ cis- Kyl Pt Cly Bry]
@ s42x1071 () NayGoCly
4421018 (B mer - |Co (NHya Cl]
15
W eexl #.  Ameng the following complexes the one which
24, Which of the following organic compounds has shows Zero crystal field stabilization energy (CTSE)
same hybridization as its combustion is
product-{00,) 7 axk 1)  [Fe(LO)F"
) Sy u,_w"\ g g it @  [CoHO)P*
(3" [ColHy0)1**
k] Etham‘.-[ J
@ & 1 O Mo

w @
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32, 1fais the length of the side of a cube, the distance | 38, Artificial swectner which is stable under cold
bastweeen the body centered atorm and one cormer atom comditions only is
in thie cubs w (Ij  Sucralose
4 {24 Aspartame
—a a Alitame
L 3 E?!"ﬁ q - %\ Saccharine
ﬂ 39,  Equal masses of Hy , 0 and methane have been
‘}/I 4 2 taken in a comtainer of volume V at temperature 27°C
5 in identical conditions, The ratio of the volumes of
&) Ea r&.&’ 'Qp gases Hy: Oy s methane would be:
2 qﬁ‘ 1) 18:8:1 }
2 b t_% {2} T1e:l:2 ";ﬁ'- X
gy —=a \; t’{ J 8:1:2 ‘}}f
@ J3 b= \PL E /ﬁ{‘ B:16:1 }" t-r"q"‘ .
33, Which one of the following species has plnn.e 40, (8 HOu+05— HD+20, hy ~£ X\
triangular shape 7 K i{[bju.!g Eb:iit;thgzﬂ—::ihg+1j£ﬂ+oz }'\/ s
. A H of hydrogen peroxidein alwve reactions is
& Nﬂg "-.q" 9}}\ Tespectively © \ _,\
ﬁ ND;{ g \/ 1) n:diu.c:ng:n (a)ared oxidizing in(b) l“{:i,;
o (2} reducingin a) and (b}
% oo sf ‘Q? ) ovidizingin (a) and (b)
3 £ i"= a (f)  oxidizing in (a) and reducing in (b)
34, Which of the following molecules has the maximum | 41, Among the following sets of reactants which one
dipole moment ? i produces anisole 7
) I, P e P (1) CoHaOH; NaOH ; CHyl
L2 NH;y L& 0Ly {1 O HOI; neutral Fal
(3) NFy (_,,% @  CgHs—CHa; CHyCOCH; AICT
4 00 b A ?ﬁ" (4 CHyCHO;RMgX
35, Acidity of diprotic acids in aqueous solutions | 42, When 0.1 mol MuD# T is ooidised the quantity of
increases in the order: elacm:'nqunnndmmmpjetel oxldise MnO
¥ [
S HasHy to MOy is:
@ Hyle<Hp=< 1) ZxO6500C
@ HjSe=HTe<HE 2y Ses0C
) HS<He -:I:i'i oy A
- T 2 (4) 96500 C
36.  Reason of lanthanoid contraction is 43, OfF the following 010 m agueous solutions,
A Increasing nuclear charge which one will exhibit the largest freezing point
(%}  Decreasing nuclear charge depression T
(3  Decreasing screening effect 1) CgHpa0g
(1)  Megligible screening effect of 'f" arbitals ) ALBO, £
37.  Which of the following statemenits is correct for the Ei; ol s L4 [
spontanecus adsorption of a gas 7 i .
1) 4S5 is negative and therefore, AH should be | 44, What is the maximum number of orbitals that
highly negative. can e identiffed wil owing quantum
{21 ASis positive and, therefore, AH should be numbers =
w1 negative. n=3, i=1, my=0 :?}Fé'
[ ASis positive and, therefore, AT should also (L .
be highly positive. - e ©
(4) A is negative and, therefore, AH should be 4 45 o
highly positive. 4 1 _J’_Ej-’f

5 Q

f -'\q-nf'\
\
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45, [+ glucose reacks with hydrosyl amine and yields
an axime. The structure of the oxlme would be
CH=MNOH
HCII—(]:—H
Ho-d- 1
H --CI'—DH
H-C-0H
f.lin'Dl-I

(1}

CH=NOH
HO-C-H
H-C-0H
HO-C-H
H-C-0DH
C1,0H

€H=NOH
H-C-0OH
HO-C-H
M}%/fH—é—DH
H-C-0H
éﬁcﬂ
CH=NOH
H-C-OH
HO-C-H
HID—IIIZ-—H'
H-C-0OH
Son

(4]

Five kingdom system of class
EH. Whittaker is not based on

{1l Modeof reproduction. .
(2} Modeof nutrition,
3 Complexity of body arganisatein,

l.ﬁcahm suggosted by

il

)

Inwhich one of the follow]
released 7

(1) Aesobic respiration in animals
@ Adcobolic fermentation
i3 Lactate fermentation

" Aerohic respiration in plangs

mE processes OOy 15 not

’ Choose the correctly matched PAir ;

y Mouist surface of buccal cavity = Glandular
epithelium
()

Tubular parts of nephrans Cubaidal
epitheliium

Inner surface of bmnclunl%—asquanwui

epithelinm .
%’-- Ciliated

Inner lining of salivary

epithelium
o
Which of the following chows mi!isd-RNfs strancd
and capsomeras ?

{3

{4)

®)

Tobacco mosaic virus
Measles virus
Retrovirus

Polie virus

m—
(3]
{4

Just as a person moving from

escape the heat for the durs
thousands of migratory hirds
extremely cold nosthern regions oy

(1) Meghalaya
@ Corbett National Park 8
L3 Kealado National Park' 71}

i4) Weatemi_:!mt

Yu:-ua.reg;lvmafa:rlynld pioce

icot root. Which of the fa
shruc] s will vou use to dis
twa?

(1} Secondary phlosm

Protoxylem

‘_El/ Presence or ahsence of 2 wel| drefined nucleys.
@ The main function of mamumalia
' fo produce :

W progesterane
2)  human chodonic gonadotropin
(B relaxin only

ncorpus lutewm is

3 Cortical cells

@) Seconldary sylem

In"5" phase of the eell cycle :

(I} amountof DNA remains sarme Ineach cell,
{2  chromosome number is inereasad,
(% amount of DNA is reduced to half i eack

cell.

4 estrogen anly

i

amount of DA doubles ineach eell,




qu. A speries facing extremely high risk of extinction in
[ the umumediate future is called :7 ;
11 Endemic
B Critically Endangered
(33 Extinct
== Yulnerable

Fruit colour in squash is an example of :
(1)
I g o " Complementary genes

&)
|

) Hecessive epistasiz
|

Dominant epistasis

Inhibitory genes

Identify the hormone wikth its correct matching of
source and function .

{11~ Malatonin - pineal gland, regulates the
rormal chythin of sleepwake cycle,

|

f (2

3

Progesterone - corpas-lateum, stimulation of
growth and activites al female secondary sex
OTTATE

Atrial matriuretic factor - ventricular wall
incraases the blood pressurne.

Owyocin - pusterior pituitary, growth and
maintenance of mamimary glands.

4

Anexanple of edible underground sterm is:

{1} Groundnut
Swoeet patato
@  Potato [
i {4} Carmot ;
da -
cail 1ich of the following catises an increase in sodium
the reabsorption in thedistal convoluted tubule ?
{1} Increasein antidiuretic hormone levels
i#)  Decreasein aldesterone levels
(% Decreaseinantidiuretic hormeone levels
L_ﬂf Increase in aldosterons levels
Which structures perform the function of
milochondria in bacteria ?
el (1}  Ribosomes
(2 Cell wall
ach
Mesnsomes
{4  Mucleoid

ﬁ.": The Information provided here':

7

e

{

Q

Sulect the option which is not correct with espect to
ey me action :

AT

Addition of lot of succinate does not reverse
the inhibition of succinic dehydrogenase by
malonale.

{21 A non - competitive inhibitor binds the
enzyme at # site distinct from tht which
binds the substrate.

)] nalomate s a competitive inhibitors of succinic
dehydrogenase. ;

{4} Substrate binds with enzyme at its active site.

Which is the particular type of drag thatis obimined
from the plant whose ane flowering branch is shown
el ¥

@

1) Depressant
Hrralant
(% TPain- killer

._@/ Hallucinogen

=)

Emmmmrmdmm&mblmm@m
cells of intestine by the process called -

[} tacilitated transport
-\_@/‘ simple diffusion

{3 cotransport mechanism

(43  active ransport

g3, /The solid linear cytoskeletal elements having a
diameter of 6 nm and made up of a single type of

MENGET are KowTias ©
‘_._g,'l/ Microfilaments

21 Intermediate filaments
(%  Lamins

{4)  Microtubules

*:-_-.!":u-':.L'E -:...:x-'!:[:"h
= For RefeT

ik
PR

'gy'.’ T_rf_;_ v

e
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Sen - fan (Gongonia)
Saccharasmyces

Blue - green algae
Cyanabacteria

Tracheids differ from other tracheary elements in: f@

@ Which one of the following living organismgy| 70. the correctly meitched pair:
compiletely lacks a cell wall ? ﬁdipw tizsue - Dense connective tissue

Cl
{2 s Arcolar tissue - Loose connective tssue
1 Cartilage - Loose connective tissie

e

Terwdon - Spevialized connective tissue

Farelimbs of cat, lizard used in walking: forelimhs
of whale used in swimming and Torelimbs of bats

) bﬁ“FimPEdume used in flying ardan example of ;
2y lacking nucleus : Ty
T e (1) Adaptive radiation
betng lignified
(4 having casparian strips 2~ Homalogous organs
. & Convergenl evolution
Select the correct matching of the type of the joint
- with the example in human skeletal system : 1 Amalogoes: oans
Type of joint Example D ;
R . "FL)  Which one of the follawing is 2 non - reducing
(1)  Pivotjoint - between thirdand cabliydiaied & -
fourth cervical _
vertehrae S Sucrose
M‘]ingﬁ joint - between humerss @ Lactose
and  pectoral (#  Ribose 5 - phosphate
@ Gliding joint L betwean carpals {4 Maltose

4 Cartilaginous joint -

and pariental

A man whose father was colour Blind miarries a
woman wha had a colour Blind mather and norfnal

between fr\nnka[["‘-

At which stage of HIV infection dees one wseally
show symploms of AIDS?

AT When the infected retro virs enters host colls,

father. What percentage of male children of this (2 When HIV damages large number of helper
couple will be colourblind 2~ T-Lymphocytes.
I ox : : {3} Whenthe viral DNA is produced by reverse
\.@/‘5“% (p ; transcriplage. N
By 7% 3 (4 Within 15 days of sexual contact with an
@) 5% L ||ﬂectedpﬁ'aon..:,{“__
A few normal seedlings of tomato were kept in 'I-"':"hat ga?;:a are produced in anaerobic sludge
dark room. Aftera few days thay were found 1o have A
become white-coloured like albinos, Which of the (1) Methane, Hydrogen Sulphide and o,
fuallowing Ier;::dwdlynuusem describe them 7 () Methane, Hydrogen Sulphide and a,
@ Btiolated ¥  Hydrogen Sulphide and Coy
3 Defolinted i Ml:'thaneand‘ COy only
M) Mutated r
|| 75 [ Anoxygenic photosynthesis is characteristic of
unction of filiform apparatus is o P
Mﬂjﬂ‘lidﬂm division of generative cell TR
@  Producenectar 2y Chlamydorsaras o
@  Cuidetheentry of pallen tube (#  Lifea
4] Recognize the suitable pollen at stigma 4)  Rhodospiritlium
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atch the following and select the correct aption
)

Earﬂ'lwurn?q]
] Successios ity

Pionier species

Detritivore
i)  Ecosystemn service (i) Matality
i) Populaton growth (i) Pollinaticn
@ @ @
W) @ @ G
I 1/
T Gy @ () ()
W G G (v}
lacation with lizsariant growth of lichens on the
trecs indicates that the: -
(1} trees are heavily infested
{7y  location is highly polluted
i3 location is not
trees an:il'ﬂ'].l'l'lﬂi‘xm!‘j.'hf
Tnwitroclonal pmpagatiﬂnmplanmsnham:lﬂimd
T
{1y Morthern blotting
(@  Electrophoresis and HFLC
% Microscopy

%Pﬂmﬂ RAFD

Analga which can be employed as food for human

being is :
_j_uw Chiprella %
Spirogura '”'
w Polysiphomia
(dy  Ulothrix

Which one af the following growth regulators is
known as ‘stress hormone’ T

1y Ethylene
@ Gy
i3 Indoleaceticacid 'q,.?(‘r/
(& Abscissic acid Tﬁ’k
81, Theenzyme recombinase is required at which stage
of meiosis
1) Zygotene
) Diplotene
(3)  Diakinesis
{4) Pachytene

7

S .

Assisted reproductive technalogy, IVF invalves
tramsfer of -

{1} Zygoteinto the fallopian tuke.
(2 ot indo the uberus.
‘Q/E:’:hrj.ru with 16 blastameres into the fallopian
tube
{4 Owuminto the fallopian tube.

A example of ex st conservation is:

(1)  Seed Bank
[2} Wildlife Sanciuary
Sacred Grove

c{-}}f' Mational Park

The csmotlc expansion of a cell kept in water is
chiefly regulated by :

'/R’r Varuoles
{2y Plastids
() Ribosomes
{4  Mitachondria

Which ore of the following is wrong about Chir 7

(1) Globule and nucule presént on the same
plant.
{3} Upperantheridiumand lower nogomium

(L Globule is male reproductive sructure

{# Upper oogonium and lower round

antheridiam,

The first humian hormone produced by recombinant
DA rechnology 35

{1y Estrogen

(&) Thyroxin

(3)  Progesterome
Insulin

Which one of the following statements is not
mm.'ﬂ"

m in petina the rods have the photopigment
rhirdopsin while cones have three different
i photopigments.
ng"keunal is o derivative of Vitamin C.
{3  Rhodopsinis the purplish red protein present
inrods enly.
{-i]\ Reﬁnal{sthelightabmwbiﬂgpurﬁnnnfﬁsual

pholo pigments.
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10
@\.}:‘?ﬁﬂum of the fol lowing staterments is correct 7 @

5

()

LT has 45 chramibsomes with X0,

Match the following and select the correct answer :
{a) Centrinle (i) Infoldings in mituchondria

©

(b Chlorophyll (i) Thylakoids
{c) Cristae (i} Mucleic acids
(d) Ribozymes  (iv) Basal body cilia or Aagella
Wb @ @
LT N ¢ N 2 TN 1 < 0.
@ @ W @)
v} (idly @ (E)
ﬁ {iv) [U] @ (i)

Appmnﬂmta.l:, seventy percent of carbon-dioxide
absorbed by the blood will be

lungs :

(1) inthe form of dissolved gas molecules
(2} by binding to R.B,C

i3} mscarbamine - haemoglobin

{4 1 a5 hicarbonate iomns

transported to the g0

Which vecror can clone anly a small fragment of
Mango is & parthenccarpic froil DAY
% A profeinaceous aleurone layer is present in {1} Yeastartificial chromosome
ke rrain. 2 Plasmid
(3 Asterile pistil is called a staminode. A Cosmid
(4] Theseed in grasses is notendospermic, (4 Bacterial antificial chromasome
'@ Pollen tablets are available in the market for - The zone of ;JL]l'mclsrlhEvé in wlich the ozore liver is
Broodi ; present is called
‘-'ﬂ}ﬂ ‘-'rupi:-::frf:t?:gflg il 1] Mesosphere
II'S} Ex ety conservation AW HTaRpitEe "/
(4] Invitrofertilization L Heapighéos
; (@)  lenosphere
Select e st LAY Which one of the following fungi contains
Direction of | Direction of neading hallecinogens 7
BMA synithesis | of the template TN A (X  Amumrita mwscaria
strand B Newnmpor sp,
1] ¥—x 5§ 3" (#  Ustilago sp,
5 g T ) Aerdiclia esoulenie
) il s A scrubber in the exhaust of a chemical industrial
HEY, r='—| ¥ ] { plant remaoves :
The organization which publishes the Red List of 2 E]::I,;ﬂﬂmmam Tt W2 e Sacineier e
b st @) pases like ozone and methane
. ._B,'V‘" particulate matter of the size 2.3 micrometer
2 UNEP or liss
3 Wwr gases like sulphur dioxide
) ICFRE
Select the Taxon mentioned that repressnis both
A human female with Tumer's syndrome : mirine and fresh water species ;
(1) Thas one additional X chromosome. () Ctenophora
12} exhibits male characters. (Zy  Cephalochordata
@ s able to prgduce children with normal Cnidaria
Tusband, Echinoderms

When the margins of sepals or petals overlap one
another without any particular direction, the
condition ts termed as ;

(1} Tmbrieaste
(2)  Twisted
Valvate
) Vexillary
aggregate fruit is one which develops fram:
Hﬂlhr&rpﬂ]ar} ApDCarpus gynoeciim
3 Complete inflorescence
31 Multicarpellary superior ovary
(f  Multicarpellary synearpons ymoecium

eomonly used vectors for human genome

Sequencing are
,Ja»r”f BACand YAC

(2] Expression Vectors
@ T/ACloning Vectors
) T-DMA
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1

af the disensed plant will be taken T

Palisade parmehyma

Both apical and axillary METIFems
Epidermis only

Apical meristerm enly

r-flight reactions cause activation of :

the kidney, leading to suppreasion of renin-
angintensin-aldosteromes pathway.

the adrenal medulla, leading to increased
cacretion of epinephrine gnd norepinephrene,

(1)
A
r (4)

l Fight=
1

e

| {3  the pancreas leading to 8 reeduction in the
blood sugarlevels.
% the parathyroid glands, leading to increased
metabolic rate.

Simmnlation of a muscle fiber by a moter neuron
pocursat |

)

[} thetvansverse tubules
@  themyofibril
. 5) the sacroplasmic reticaluny
% the nenromuscllar junclion
Plasaria possess high capacity of
regeneration
{7} alternation of generation
i3 bichuninescence
i () metamnorprhosis
; Placents and pericarp are both edible partions in:
1) Hanana
3 (7 Tomato
3 _ Potato
: Apple ,
'@ Deficiency symptoms of nitrogen and potassiumare
. visible fisstin: 7 Wy
- i Young leawes j
’ (7 Roats *
- @ Buds n
{4} + Senescentleaves
yinvolves
| forkilization of 2 flower by the pollen fram the

gamie flonwet.
¥4 %.'H?Eﬁ?t-m of a flower by the pollen from a

of_ flower of another plant in the same
population,
i {3 fertilization of a flower by the pollen from a

i flower of anather plant belonging foa distant
]:lop-ul.al:i.cn. o
Fertilization of a Mower by the pollen from

@ andther ﬂnweruﬂhes‘ialﬂgjg_l_q_m.
| Viruses have:
(1) Prokaryotic nucleus

(7)  Singlechromesome
{3  Both DMNAand RNA
{4l DA enclosed in a probein coat

T i

1
- @. Ta obtain virus - frae healthy plants from a diseased @
ome by lssue culture technique, which part/parts

. guru

Q
How do parasympathetic neural sigrmals affect the
working of the heart ?
(1) Hearl rate is increased without affecting the
cardiac output.
(%)  Both heart rate and cardine oukput increase,
3  Heart rale decreases but cardiac outpul
increases.
Reduce both heart rate and cardiac output.

& marine cartilaginons fish that can peoduce elactric

current is:
Terpedo
Trygon

@) Scolfodon

(4) Prisns
An analysis of chromosomal DMA using the
Southern hybridization technique does notuse:

2

_ AT Hlotting
2] Autoradiography
@ PCR
i) Electrophoresis
i;.;.;haebmma differ from eubacteria in:
1y Modeof nutrition ;
7 Cellshape O

3 tode of reproduction
ﬁl}.—- Cell membrane structure

1F 20 ] of encegy is trapped &t producer level, then
how much energy will be available to peacock as

@
food in the following chain ?

" plant = mice —» snake =+ peacock

50t

2o Wt

0.002 )

02] 3 ‘EL
(¥  0.0002] o

- 4 002] i

16. ) Which one of the following are analogous

structres?
(1)  Gills of Prawn and Lungs of Man.
{2} 'Thorms of Bougainvillea and Tendrils of

Cucurbite
Elippers of Dolphinand Legs of Horse.
Wings of Bat and Wings of Figeon.

F.Went noted that if coleoptile tipe wara removed

and placed on agar for one hour, the agar wonld

produce a bending when placed on one side of

[reshly-gut coleaptile stumps. OFf what significance
?

pi this o ]
\)%5/‘ 115' the basis

(

for quantitative determination

of small amounts of growth-promoting
substances.

It supparts the hy pothesis that LAA s awxin.
It demonstrated polar movement of auxins.
It made possible the isolation and exact
identification of auxin,

i




www.recruitment . guru

12
@ TLibE‘CbJI'I'I:'f' isa method of sterlization in which

@ Nen-albuminous sead is produced in:
M Castor

{21 Wheat
(3 Pea
M) Maize

Dusring which phase(s) of cell cycle, amount of DNA
in a cell remains at 40 level if the injtal amount is

denoted as 2C 7
Gpand 5
(2 Only Gy
B GyandM
4 Gpand Gy
Lranaformation was discovered by :
(1} Hershey and Chase
s 2 Criffith
{3 Watson and Crick

(4] Meselson and Stahl
Given below is a simplified model of phosphosus
cycling in a terrestrial ecosystem with four Blanks
{A-D). Identify the hlanks.

Llptﬂke J

; mlutmn

1?

A C D
(1} |Litter fall |Produgers [Rock Diatritus
.o ] minerals
N PHDetiis  |Rock Producer  |Litter fall
3 miherals ' B
(3) |Producers |Liter fall  [Rock Dietrifus
minerals
(4] |Rock Detritus [Litter fall  |Producers
minerals

122 Ina population of 1000 individuals 360 belong to
genotype A4, 48-11 b Aa and the re-mnlrl.lnﬁ 1600 b

aa, Based on data, the frequency of allele ﬁ. in
the population is -
(1} 05 | OW"L
3 0é y
@) A %

04

"Lsfi};i‘_ﬁ"

B

[} overies are remeoved surgically.

2 small partof vas deferens is removed or tied
up.

(3 wierus is removed surgically

small p:‘l.r! of the fallopian tulbe is removed or
tied pp.

1 124. [Which of the following Is responsible for peat

formation ?
v,rﬁ" Eiccia
12
3

i

Fungrig

Sphiagnim

Marchutin

125. /Which one of the following shows isogamy vith

nun-tlagellated gametes ?
(1)  Ectocarpus
\_ﬂ/‘ [Hathrix
Spirogyre

) Sargassum

126.] Which one of the following is wronghy matched ?

1) Translation - Using information i m-RNA
tomake protein,
Mﬂpﬂﬁm‘ prodedn - Binds to aperator fo sfop
enEyme synthesis,
{3 DOperon - Structural genes, operatar and
proanider,
i) Transcription - Writing information from

DA totRNAL

Whick of/the following is a hormone releasing
Intra Literine Desics (TLT) 7

{1y LNG-20

\' Jp})\ Gervical cap
-

4] Multload 375

58,
wl”
_.,?:fo




F@ Civen below is the representation of the extent of
|

| pﬂl:’l.'i.ﬂns{"l.-ﬂ] represent cespectively 7

ed |
|
a_
Ophions :
at A B (" D
i (1) [Crustuosans Insescla 'Il.'[nl-lu.s.ms f'ilr;r_;n'im]
S | Lo
[2) | Molluscs  [Other aninsal [Crostaceans  |Insects
: i ETOUPS
ﬁ}mls Muolluscs ‘Crustceans  |[Other animal
¥ Rt * EI:I'!‘.Il:DG
) [insects Crustaceans [Other animal [Molluses
ErOLps

Male gamelophyte with least number of cells is

| |~
| &
h

presentin ;
(1)  Feomaria rt
(21 Lifim
__(31]"" Praris
i @) Piers
@ The shared terminal duet of the reproductive and
urinary system in the human male is :
Umater -
()  Vasdeferens
| {3)  Vasaelferentia 1;@.
£ {4 Urerhea ..i.
- Imjury localized to the hypothalamus would most
; likely dismupt:
(1)  oo-ordmation during locomotion,
i {21 executive functions, such as decision making.

_+ \_F@.-r- regulation of body temperature,
T (4] short-term mesory.

" Y &-c!m the correct option describing zonadotropin
ivity ina normal pregnant female :

High level of FSH and LI facilitate

implantation of the embryo.

(& Highlevel of hOG stimulates the synthesis of
estrogen and progesterons,

(3 High level of hOG stimulates the thickening
of endometrilim,

(% High level of FSH and LH stimulates the

.,}f thickening of endometriunm.

13

global diversity of inperfebiates. What groups the four |

Q

133.) The initdal step in the digestion of milk in Tumans is
carried out by 7

i
(2} ERennin
"ﬁ}f‘ Pepsin
(4)

Trypsio

Lipase

(1) flagella
s

@ pii

)  Embriae 1@,‘-’.}

135, ) Person with blood group AB is considered as
universal recipient becavse he has -

]

L) rJ|[nl;psmﬁEF_fnm'LRECandm:lan!i!:u:htl_}.r'znll'u:
plasma.

E;-n!h Aand B antibodies in the plnsl:na;

both A and B antigens in the plasma bt no
antibodies,

&)

i4)~both A and B antigens on RBC bul no
antibodies in the plasma,

G;:b. A conducting sphere of radius R is given a
charge (. The electric potential and the electric field
at the centre of the sphere respectively are:

Q

4y R

Q Q
\}K;ﬂcﬂlland 4-11'%1{2

ﬁ’//;mh ATe ZETO

(1) and Zero

.
Fero and 4me, B2

@)
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137, IEny, i and ng are the fundamental frequencies of
three segments into which a slring is divided, then
the original fundamental frequency n of the string

is given by :

= S S S O
Wl e
@ he g+ o+ g

[3] n=mn; +na +I'|3
L
‘./ 1] oy ng Ty

138. Copper of fixed volume V' is drawn info wire of
length ‘', Wien this wire s subjected to a constani
force 'F, the extension produced in the wire s " AT
Which of the following graphs is a straight line ?

1) Al versus 2
2} Alversus1/12
3 Afversus]
4 Alversus1/1
A
130, A thermodynamic undergoes cyclic

ABCDIA as shown in Fig, The work done by the
systemin the cycleds;

-1

g'?u%‘._-j"‘

) 2RV,
Py W,
o St
(3 Fero
) PV

www.recruitment . guru
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0. Twe thin dielectric slabs of dielectric constants
K and K3 (K < Ky} are inserted betwern Plates of a
parallel plate capacitor, as shown i the figure. The
variation of electric field ‘B’ botwen (he plites with
distance "d’ as measured from plate P is correctly
shown by ;

F

L T

:
\_,yﬂl—— |
d-
1
i':_—: | e |
) ™=
f—— t—+
|
B— —~ =
@) T-E%
i ==l e
() !
e =

181, The resistances in the twa arins of the meter bridge
are 3 fl and B A}, respectively, When the resistince
R is shunted with an equal resistance, the new

balance point is at 1.6 /. The resistance ‘7, is +

’—p-_{ 7
510 Rt ‘
A R
i 1001,
1] 150
@ ;0
3 250
4 100




nsiants
esofa B
re. The
es with
mractly

Sl
Fi e

142, A fivin semiciroular conducting ring (POR) of radius

o i falling with its plane vertical in a horizontal
magnetic field B, as shown in figure. The iz
difference develaped across the ring when its speed
isv,i5:

o

B
£ = 2; £
r
Bemi/2 and P is ab higher potential
wrBv and R is at higher potential

2¥Bv and K is at higher potential
Fero

o = X

m A particle |5 moving such that ils position

‘bridge
iislance
18 THEW

¥

coardinates [x, y) are

{2m, 3m) at time t = 0,
(i, Fim) at ime t=2s5and
{12m, L4m) at time t=5 5

N
Average velocity vector [‘-..f“]fru-m t=0 to
t=5gis:

)]

i

4}

Two identical long conducting wires AQB and COD
are placed at right angle to each other, with one
above other such that ‘0 ia their comman point for
the twa. The wires carry Iy and T, curments,
reapectively, Point ' is lying at distance ‘d’ from
‘3 alemg a direction perpendicular to the plane
comtaining the wires, The magnefic field at the point
P will b

1] % (by +12)

@ %_5 i - )

! _}3’/ 22 (1f + 12’]}i
© 32 ()

145.

140.

A system congists of three Massss My, My amd miy
conmected by a string passing over a pulley . The
mags ), hangs freely and mg and my areon.a riughy
horizonkal table {the coelficient of friction = ).

The pulley is frictionless and of negligible
mass, The downward acceleration of mass my is:

{Assume:‘nl”mg=rna-m‘,|

) =
g1 —gn)
4 2

Tnan ammeter 1.2% of main current passes throagh
the meter. If resistance of galvanometer is
G, the resistance of ammeter will be:

499
G 5 <
; e
L.c ’,«-:2;"
@ Tog |vee
500
G et
4 %G
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147. Following fgures show the arrangement of bar
agets in different comfigurations. I'Ech magnat
has magnetic dipole momen: m . Which
configaration has highest net magnekie dipole

et

(L

@ @

@ @ -‘
W r

W e

148 Ethtinca!l-mg&m{ob'gecﬁve]ensiaumaﬂdﬂmm
mﬁgnl,:['}iﬂg,pu-werrﬂ: & £
i rrﬁcmmp_t!qutelﬁmpemmmﬂimuw.

decrease.

@) icsoscope will decrease but that of telescope
will increase.

cﬁ. microscopel/and telescope both will

] Wwiﬂﬁnﬂaﬂmtthﬂtuﬂﬂemupe
decranse.

145, The angle af a prism is A O of its refracting,
suﬂarﬁisaﬂvm-ed_ Lj.ghtT‘d.}r‘ﬁ-iHﬂiIl.ﬁat an:mg].eul
incidence ZA 0N the first surface refirns }:ack

ERTora g T saimie path after suffering i Al
the silvered surface. The e index p, of the

prismis:

1) ZeosA Q,\ﬂ%
L AT =Ty

Siw

151,

150, The oscillation of & body on a arnooth horizontal

surface is represented by the equation,
K = A cosist)
whert 3= displacement attime t

w= frequency af peciitation

Which onc af the following graphs shows correcty
phe variation & with 7

iy |
(1) C’\CF\T i

Hee 2= acceleration at pirme L

T s time period

The given graph representsV T characteristic for a
serniconductor device:

Which el the fallowing staternent is eorTeet

Iy Itis for a solar cell and poinis A and B
represent opEn circuit vollage and cdrrent,
! pespectively. ;
& Tt is for a phumdiude and points A and F
pepresent open cireuit voltage anv curreft
rEsPéCfI'-'d.}'.
@ iy for a LED and points A and T represer
apen clrouit voltage i short circuit cureen
. yvely.
) pis W - 1 characteristic for colar cell wihiett
paint A represents open clrowit voltage &
Pqurt'Bs'hﬂri: circuit current, -

B |
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52 Dependence of intensity of gra vitational fiefd (B} of
carih with distance (1) from centoeof earthis correctly

represented byt

Ihe numibér of possible natural oscillations of air

celumn ina pipe closed at one end of length 85 cm
| whase frequencies e below 1250 Ha are © Ivelocity

of soungl =30 ms ) y )
WV

M /@L &

o
a2 7

i# 6

w4 -

Two cities are 150 km apart. Electric power is sent
Fremn one city to another city through copper wites,
The fall of potential per km is 8 volt and the average
resistance per km is 0.5 £b I‘hgﬁwvr loss in the

154

wire 151

19.2 kW

192] A

@ A2ZEW .

o 1waw

A beam of light of A= 600 nm from a distant source
falls o 4 single slit 1 mm wide and the resulting
diffracting pattion 15 nbserved ona screen 2m away.
The distancebetween fisat dark fring@s GRenner side
of fhe central bright fringe is:

1} LZmm

2y 2&cm

(®  2dmm

4 lZicm

If fozce (), velocity (V) and time (T} are mken as
fundamental units, then the dimensions of mass are:

(2

153,

156,

m FVIY
Fy-r-Y

B [FVTI

() I |

157,

158,

159,

160,

161,

162,

h’té?f S R e e
n?‘_ R o T o mrovided here z'ﬁwﬁ.gi:h'%éuwmﬁh

The barrier potential of a pn junction depends an -

()
i)

type of semi conductur material
amount of doping
tepperann: .

Which one of the following is correct ? )
el (b only -

(2
)
4

() amdl {g) only
(a), (Byand {¢)
{a) and (L) only

The Binding energy per rucleon of L1 and ;He
nuclei are 5.60 MeV and 7.06 Mﬂ‘?%!?pucm.
In the muclear reaction ELi.*—j'lﬁ%;Hc+ e+ QY
the value of energy Qreleasedis: :
(1 =24 MeV

2y B4 MeV

@ 173 MeV

& 196 MeV

1f the kinetic energry of the particle is increased o

‘lﬂmgﬁwvatuﬁ the percentage changs

in the de-Broglic wavelength of the particleis: - &

M m - W E'}’T’
&0

) A"

]
4 25

Light with an energy flux of 25 % 104 W~ falls on
a perfectly reflecting surface at normal incldence. 1
{he surface area is 15 cm? the average force exerted
on the surface is © -
1) 250x10-5N 15
-4 1y

120%10-6N it 2

(3) 128

30=10-EN
() 125%10-8N .-q’-‘%:}
In a region, the potential is represented by
W, 1y )= fx—Sxy — By + By, where V is in volts
and ¥, y, # are in meters.  The electric force
experienced by a charge of 2 coulomb aftuated at
;[;e;im [3‘::1&”“: (g o g~ #
@ =N 9 & 24T " gt
. i W
i

@ 4fEE N bc"”
4 &SN Y e
\ M

A speeding motorgyelist sees traffic jam ahead af
him. Hestows down e 36 km our. He finds that
traffic has eased and a car moving ahead of him at
18 km/ hour is honking at a frequency of 1392 He, 1f
the speed of sound is 343 m/s  the frequency of the

honk as heard by him will be:
{} 13MHz
(3} 1412Hz
1454 He
@) 1332 Hz

]
ER B o LT o e =R
é’fE‘nE&t"'I‘E%f ratye Uriwm._'l
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(163 The ratio of the acclerations for a solid sphere
| {mass "m’ and radius 'R} rolling dawn an incline of
. angle '8 without slipping and slipping down the
incline without rolling is :

1 =3 L &j}
g] 1:5 %‘hm“‘ 4
& 75 “S 9.

H 5T Ezg?&f& f""{l:j

s force 'F ackng on a particle of mass ‘o7’ is
indicated by the force-time graph shown below, The
change in momentum of the particle over the e
interval from zeroto8sis: &

. a9
iy Hhs ‘b‘f\ (}rg 3::
@ 12Ns 'J&L qﬁ‘
B 6Ns (}/ Wk 3 @
. 24 Ms \%

Tn the Young's double-slitexperiment, the intensity
of light at # point on the screen where the path
difference i & is K, (A being the wave length of light
psed), The intensity at a point where the path
difference is b4, will be A

1) K/
7y K2
| Lero
K

(4
A balloon with mass ‘m’ is descendi dotem with
an acoeleration ‘a’ (where 8= g). How much mass

choisld be removed from it so that 1t starts moving
1ep with am acceleration “a’ ? : .

2 ma
@M g-a ¢ %
X K
0 PR\
(53] f; <;, QJ‘:&
2 ma
S

e e b it i

167, A potentiometer cirouit has been setup for findin
the internal resistance of a given cell. The mak
bartery, used across the potentiometor wire, has a
crnf of 2.0% and a negligible internal resistance The
potentinmeter wine itself is 1 m lomg;, When the
resistance, K, connected across the given cell, has

walues of.
[ infinity
fii) R56

the ‘balancing lengths’, on the potentizmeter wire
are found tobe 3 m and 265 m, respectively.
The value of internal resistance of the cell is:

M 0%B0
@ 050

@ 0750
@ 0250

A monpatomic gas at a pressure I, having a
volume V expands isothermally to a volurie 2V and

then adiabatically to a volume . Thefinal

pressure of the gasis: sy =3f3) J

a 3

S R

E" 6P g
\,{f}/ A b,{ ) Vb

A certain number of spherical drops of a liquid of
radius *F' coalesce to form a single drop of radius
‘R and volume V. 1f ‘T is thee surface tension of
the liguid, then:

(i m:mﬁ +-]]£]icsatambcd,

38 l]isn!aa&ed.
E

I

(2),~Fergy = 3VT [
3 ermrg'}rismitherrelmsednurahsurbed.
@  energy = 4VT [l = %] iseleased.

I
A body of mass (4m) is lying in z-y plane at rest, B
suddenly explodes into three pieces. Two picees,

each of mass () move | dienlarto each otie
with equal speeds (). The tatal kinetic energy

genarated dus to ion is 5 P\d
iy = mut C"’T’

) 4me? Iy
# o \N\]
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1%

Hydrogen atom in pround shte is escited by
a rnnnmhrnn-.nticrndintk:nq{w:_ Mumber

af spectral lines in fhe vesulting Spectiim erri.iltm;t\

Y

will be i r}..'[:d_,;-
H}D,.r-‘z & 3 L A
6
@ 10 ;L??J
W B ?;/’}7”
172, Ablackholisan olject whisa gravitational field is

s styong that event light cannct pscape from it To

what approximate radius  would earkh
(mass = 35BH 1M k) havetoha-r:nmpre-ssedmbc
a black hole ®

{1 m-fm

@ WiEm

A 10 m

@ 1w

173, Aprojecilets fired froe the surfaceof theearth with
avelocity of ST L and angle B withthe Terizonial.
mmiunﬁle fired from another planet witha
velocity of 3 ms=1 at the same angle follows &
fejoctory which - jdentical with the trajectary of
the projectil fired from the earth- The value of the
apceheration doe 1o gravity anthe planetis (inms~2

is: [gi-:zngd}.ﬁ s~

]

W 59 WA

) 163 ‘a i

@ 1108 v
@ 35

[ Ceriain guantity dwamrﬁﬁimm?ﬁmﬁﬂ‘gir_u
thie firs 5 mintes and b i1 the mext 5 minites.

The temperature of &he surroundingsis:

(. 2rc

0 T ygedtS)
e o o

4y 45'C

@ A salid cylinder of mase 50 kg and radius 0.5 mis
/. free fo rotale +hout the horizontal axis. A massless

string 18 wound roumd the cylinder with one end
attached toitand afier hanging freely. Tension in
the string pequired tO produce an angular

accilazation of 2 revolutions s =2i5:

50 %
@ 7SN fwg'“
@ 1N AL

Q-

176, Steam at 1O0FC is passed intd 90 g af waker at

10PC. When witer AOruires A femperatire of B0FC,
(s miass of water presel il e

| Take specific heat of water = 1cal 7 Lag =t and
latent heat of sheam = S0 cal g™l

iy 35g
(2 425g
@ 225%
[y 24g

[ radio isotope "% with a half life 1.4% 10 years

decays oY’ which is stable. & sarnple of the rock
from a cave Was found to contain ‘X and Y
in the ratic 1:7- The age of the rock is:

(1) BI2 A 107 years
) &0 w10 years
(3 840 %107 yeats

\fﬂ/}ﬂ 1.96 710" yeors

178, A transtormer having effici

179,

 of 90% is working
on 200V and 3 K power sUpplY- [ T curment in
—meendlary coil i & f, the voltage ac¥oss the

secondary coil and the carrent in the primary <oil
respectively are: S e s
1) 450V, 15A
7 4%V 1354

G0NV, 15 A
g B00VISA

When the energy of the incident radiation is
increased by 20%, the Lipelic EnaTgy of the '
§emitted from a metal surface

increased from .58V Fa B eV, The
e et g o

af the metal is 7 e e

1y L0eV R NJe A A;M& :
13eV : i“ﬁg"'
el L, Ralen

M:I B ﬂfq'ﬂ-.!f%'d

R :
The mwearn free path of molectiles ufagas..{radiusjﬂ

is inversely propartional to:

m

by =T .
Jr

(R =
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